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[image: image15.wmf]3

2

2

p

ap

<<

 nên 
[image: image16.wmf]12

sin

13

a

=-


	0,25

	
	
	
[image: image17.wmf]sin12

tan

cos5

a

a

a

==-


	0,25



	
	
	
[image: image18.wmf]120

sin2

169

a

=-


	0,25

	
	b
	 Cho 
[image: image19.wmf]3

tan

-

=

a

 và 
[image: image20.wmf]p

a

p

<

<

2

. Tính 
[image: image21.wmf]a

a

2

cos

,

cos

.


[image: image22.wmf]2

22

11

1tan10

coscos

a

aa

+=Û=


	1,00

   0,25

	
	
	
[image: image23.wmf]10

cos

10

a

Û=±


	0,25



	
	
	Vì 
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 có tâm 
[image: image41.wmf] 

1)

 

I(-1;
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Tiếp tuyến 
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	Vậy pttt: 
[image: image78.wmf]':260

':240

dxy

dxy

-+=

--=


	0,25


1

_1711454182.unknown

_1712474373.unknown

_1712474586.unknown

_1712474856.unknown

_1712476431.unknown

_1712476444.unknown

_1712476967.unknown

_1712474943.unknown

_1712476257.unknown

_1712474996.unknown

_1712474892.unknown

_1712474767.unknown

_1712474831.unknown

_1712474743.unknown

_1712474475.unknown

_1712474515.unknown

_1712474410.unknown

_1711691097.unknown

_1711692119.unknown

_1711693096.unknown

_1711693711.unknown

_1711693807.unknown

_1711693888.unknown

_1711693724.unknown

_1711693307.unknown

_1711693685.unknown

_1711693123.unknown

_1711692523.unknown

_1711692630.unknown

_1711692360.unknown

_1711691629.unknown

_1711691804.unknown

_1711691966.unknown

_1711691210.unknown

_1711691574.unknown

_1711456427.unknown

_1711690206.unknown

_1711690941.unknown

_1711689468.unknown

_1711455347.unknown

_1711456000.unknown

_1711455323.unknown

_1711452036.unknown

_1711453026.unknown

_1711453277.unknown

_1711453298.unknown

_1711453104.unknown

_1711453200.unknown

_1711452116.unknown

_1711452234.unknown

_1711452046.unknown

_1651925804.unknown

_1711451370.unknown

_1711451680.unknown

_1711451838.unknown

_1711451541.unknown

_1711450780.unknown

_1711451341.unknown

_1711388138.unknown

_1711449992.unknown

_1680763896.unknown

_1711388107.unknown

_1680531029.unknown

_1522393387.unknown

